
-

qtq* csry $st[irr q{, Tr{FT{ T{

1t til$rrd-?r crEls qRru qE tq usn-{ e xrflk-+ I\ml-tn r<F{t'l{l{ sI& wfi
(rt'r{Tf/'tr{{Ett de'sF/Ftfi deuq)

5 t q1qffis 3rfo7a6q{6fi A&t]4/FiT| d&tm_< {r:
lr FlEtf$ikTl{:
e i Tlvr-i iT{:
g t EEnl: 0T{: uFF!-d: ts"|rcT{f:

(W4I: frvtot: Cpld/fll"rliE:
G i TIFI:

r! I (eirtl:

1r rli<s gBSlrqRnH s EfldT:

u r Tffs+ qr{ (c{ <qxfflrOrq rffifrE $fu qf+qT 4E qffie{ {frffistq Erg{ ssfts q-r<):

b I to5tTcd$g cSrvq$ 'lrs|< T{ ($mw cr-@:
)o i {alfl-$t;{1ariT:

)5 r Eaffi< {Tdr{ c(fr? TI'jqqE, el:rlffi e rfrrs E\5,1fr qsq-q(H l(Istsr{ T-{I {a{tr

zrcfis $fuie&tnrcfr&-{ defiR-r

rlFl:

iT{:

5{ arqnxqm$t_ft{rry(qIs{tfi( {lrF{:

ffi:

Foft{tft'fif
{?tsr< TqfiE EIi

{l{

\
5s.

6f,9 frr<ur Ti,]-{{Ecffi TSTI
5l "lTt.TT4-S

ll $s1<

\,l ol-s6k$5t',sl

8l {skil

al q{qH

gi Te'qTqqq q<qlfl{ 
Tcr.fsf

1t c'€1_{n1

tsl Er<fiflr{g1Tfi

r':.E"rcwql sfrB-{ 1fur< wrr< w-eeGr<na C{TRcg >r({e +;trc Er<I

^bv

r{{T



58 (T) E fcqrrf s'frE{ s'siim'ilk{ € '!lFt:

agl,ffr< 5t\'-<

({) E,l(w{t'sfrtrr rsl-j rT{R<ft c(T6 T.{co {(<r

5C (9. Cqfl $frF{ nE<l&flfr{ e rrEr:

6c7af aqqIS-:ffi|{qfqr{

(?t) Fct +frtr< c-,51r Tlfi-{{ft c(TG T;rco Er<t

qq-qr-{Fr{{EfI'{ S"rcwqt oxf<qifr;K {rs-{

Trft? frffi ,!sffi< qfqft{ {(rq {q'{r ,{< ?slF<

Ni"fi ${l{cq{ {lF(:

CE-{k-{il{, qtftx +rq1<qfrT6qi a1T il:

tr:E 'tt<si 6ciq61qnD

"w-'

\4N
{ftN\\ .*\sl" (


